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List of performed analyses. 

Name Material 

model 

Load q 

[N/mm] 

Heating 

regime 

Thermal 

analysis 

Creep Boundary 

conditions 

SS_B1 EC 3 20 and 40 linear 

30C/min 

none NO  pin - roller 

SS_B2 EC 3 20 and 40 linear 

30C/min 

none NO pin - pin 

SS_B3 EC 3 20 and 40 ISO834 Simplified, EC3 NO pin - roller 

SS_B4 EC 3 20 and 40 ISO834 Simplified, EC3 NO fix - fix 

SS_B5 Bilinear 20 and 40 ISO834 Simplified, EC3 YES pin - roler 

SS_B6 Bilinear  20 and 40 ISO834 Simplified, EC3 YES fix-fix 
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List of performed analysis. 

Name Material 

model 

Load q 

[N/mm] 

Heating 

regime 

Thermal 

analysis 

Creep Boundary 

conditions 

FR_BS1 EC 3 30 ISO834 Simplified, EC3 NO  pin - pin 

FR_BS2 Bilinear 30 ISO834 Simplified, EC3 YES (Au50) pin - pin 
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List of performed analyses. 

Name Material 

model 

Load [N/mm] Heating regime Thermal 

analysis 

Substitute 

load

SC_B1 EC  P = 10 kN 30C/min – steel 

9C/min - concete 

none pt = K*Δ

SC_B2 EC  P = 10 kN 30C/min – steel 

9C/min - concete 

none qt = K(T)*Δ

SC_B3 EC  P = 10 kN 30C/min – steel 

9C/min - concete 

none *

SC_B4 EC  20 and 50 N/mm 30C/min – steel 

9C/min - concete 

none qt = K(T)*Δ

SC_B5 EC  20 and 50  

N/mm 

30C/min – steel 

9C/min - concete 

none *
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